ALGEBRA

CHAPTER 8
SECTION 2
NOTES
Scientific Notation

A shortcut way to write either very large numbers or very small numbers.

To be in scientific notation:

1.  First number must be 
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Are the following in scientific notation?
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No, 1st number is not between 1 and 10
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No, 1st number is not between 1 and 10
Write the following numbers in scientific notation.

56,900,000

254,000

0.00045

0.000000000091
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Write the following scientific notation numbers in standard form.
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12,000


3,360,000

0.000021

0.00000705

Using scientific notation.

The mass of an electron is given as 0.0000000000000000000000000091093897.  Write in scientific notation.
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The speed of light is given as 
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m/s. Write this in standard notation.

299,700,000
Order the following from least to greatest


Mass of an electron:  
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Mass of a proton:
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Mass of a neutron:


[image: image17.wmf]27

1.610

-

´

kg

Compare things that are the same.  You cannot compare numbers if all the numbers are not in the same form.  All of these numbers are in scientific notation.

Compare the exponents first.  The smallest exponent is the smallest number.

If the exponents are the same, then compare the first number.  
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Multiplying:
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This answer is not in scientific notation.  To put it in scientific notation, follow the following steps:
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1.  Make the first number between 1 and 10
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2.  Since the first number was made smaller 
     (15 to 1.5) by a power of ten, then the exponent 
     must be made bigger by a power of ten.
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1.  Make the first number between 1 and 10
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2.  Since the first number was made bigger 

     (0.8 to 8.0) by a power of ten, then the exponent 

     must be made smaller by a power of ten.
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***Be careful when dealing with negative numbers.  It is very easy to go the wrong way when determining the exponent.
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